Combining like terms

Like Terms
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Simplify: 2x* +3x+7 +4x + 5 + x*

Simplify: 4y* +2+5y +4y +8y*+5
Ry ®+ Ay +7
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Translating an English Phrase to an Algebraic Expression

Operation

Addtion

Subtraction

Mulbptication

Diwlgion

Fhrase
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—
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———

it nomatag by O

b raoeg Bhan

the total of @ and &

b mdded o a

@ miLs B

tha CII! Bfence ot a and o
iy

o gecrepaad by £

& \eao thpp o

b subtracted trom a

o fimes b

tha product of @ and b
—

Wice &
—

o ciivicied by b
7 chtwiced Dy

tha quot '.'l]l of @ snd D

the matio of o and b

o divedad niga

Exproasion

a4 h

W=

i « b, ab, a{b), (a)(b)
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Translate each English phrase into an alegbraic expression

a) the difference of 17x and 5 !7)! -5

L lox
b) the quotient of 10x? and 7 lox =7 =

¢)the€imlof 17y?and 19 T+ 419

d) the product of 7 and z 72

| 59

e) Seventeen more thany Y+ 17

L
f) Nine less than the product of nine and x squared GI.){ - GI

g) five time the the sum of m and n SCHH)

h) the sum of five times m and n Sm+n

g) the difference of two times x and eight Ax-%

h) The length of a rectangle is six less than the width. Let w
represent the with of the retangle. Write an expression for the
length of the retangle. Widkh = w

Lfnbbh = L-J"'((

i) Lauren has dimes and nickels in her purse. The number of dimes is
three more than seven times the number of nickels. Let n represent
the number of nickels. Write the expression for the number of
dimes. Nicltels = n

Aimes = NS
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Summary

Justin’s car insurance has $750 deductible per incident. This means
that he pays $750 and his insurnace company will pay all costs
beyond $750. If Justin files a claim for $2,100.

a) How much will he pay? ‘F'7SD

b) How much will the insurance company pay? & | 20 -7 S©

| 350
Simplify:
3(149-6) —4° 3\3_;31—8
3 +54)-16
H o Fle
3(55)-1¢
AT~ 27
144
4= 4 +6(3 +6)
Y - 3 Cl & QC"\)
= L +SY
L
T3> 50 59

32 -18+(11—5)
G-18: (11-5)
9-18 %6
-5
b
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What you will learn about:
Add and Subtract Integers

Use Negatives and Opposites

Opposite of a Number

Same Pumber on
the opposbe 3ty
oﬁ Lo

Opposite Notation
- opr“a.'&z. Ca

i

|
1
0

Numbers to the left of zero are neagative and numbers to the right
of zero are positive. Zero is neutral and is the only number that is
not positive or negative.

Negative numbers Posrtwe numbers

Moving to the right numbers get bigger and moving to the left
numbers get smaller.

Order each of the following pairs of numbers using < or >

142 6 4% A 543 >

Sarmslimas In MgEws he same Symbol has differsnt maanings. Just ke some wordks n English, thi apecific mésnng Secomes clesr
bry ioaking at how # is usad. You have sesn tha symbol "-" used in three deffsrent ways
10-4 Between two nitnbers, it indiciies the operation of subrraction
We read 10 = 4 as 10 minus 4.
= In front of & number, it indicates 2 negarive number
\\chr:'ril g .1-“11:;.;1!: ve cl,_tht
-X In frone of a variabde, it indicates the oppocite. We read - as “the opposite of ¢, ™
— (=2} Here there are two "~ " signs. The one in the parentheses tells us the number is
negative 2. The one outside the parentheses wils us 1o take the appasire of -2
We read - (~2) as “the opposite of negative two,”
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Integers
5; b F ] ‘C' | ml-ﬂi""

ine lq..-L'-»b 'E;e.r'aJ whale]

C/Uo Fn.- 17 XIS //UD
Duim-.[s)

Absolute Value
O; béﬁ"\t‘—ﬂ- ‘pﬂ'wm
zc(p S

e mt ‘bl'f ]-lﬂ-ﬂ'—

humbers and oppesib Evalutate —x when x = -8

Evaluate x when x = -8 -3
~(8)= 8
-(8)=~-9%

Evaluate —x when x =8

&

?n: A r Xy
Evaluate:
13] |—44| [0] —|25]
2 by 0 -5

Fill in <. > or = for each pf the following pairs of numbers.

AL ~(~10)__—|~10]
72 -7 lo 7 -—lo

-4 —|-4| 1. < -y

4 7 = -1
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Adding Integers

Simplify

24 — |19 —3(6 — 2)|
au- [1a-5 (9]
a4~ 119-12)

o a4- |7
Add: Y
1+4

5
8+ 2

(0

Wie remove any neiral peics,

Wiz have 2 negatives ieft

19 — |11 — 4(3 - 1)|
la- ] 11 -4(2))
15- | 11~ %)

: 1§->
17 ig- 13 1
—1+(—4)
~ 5
-8+ (-2)
- 1D

00000
O0000

-~ 0 W -
EYaYeXeXe
I\.. Ir.', | |

/\ /

\ /
4 Ly -

QO

2 negatives
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W slart with 5 postives.

And then wa sdd O negatives.

We have 2 positives lan

Thesymol Send -3 82

Add:

-1 45

Li

-2+4
e

37 + (=53)
-6

~31 4 (—-19)
-50

—5+3(-2+7)

-5335(5)

-5 LIS
10

S+ -3 means the sum of 5and -3

£ positives

~74 4 (=27)

=10}

15 + (—32)
~ 11
—42(-3 +5)
~ua(2)
-84




Subtracting Integers

p‘ JDL DFPQ‘-:'E:L_

W start with 5 postives.

W ake sway' 3 positves

W have 2 postves e

W start with § negatives

W ake awey' 3 regatives

We have ¢ negatives laft

Subtract:
7—5
74(-5)
A

12 -8

Lf

The diference of S end 3 is 2

Tha diference of -5 and -3 n -2

) .
& PR LR S
[ ]
S e e N W
-
il
i !
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& - (-3 moans § take away -3

We now add the nesded neuirels pars

Wm rermonn e 3 rogntives - f”‘:\] f:_ ;h\'
-

We e laft with § positves

8 positives

Tha difference of 5 and -3 is B §-(-3=8

Subtract:
-3-1 3-(-1)
e b\ 1.1

—-6—4 6—(—4)
-0 0

Simplify:

13—-8 13+ (—8)

S 5

=17 <94 —17 + (-9)
-~ -9
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Simplify:

9 —(—15)
24

7—(-4-3)-9
T~F1)-4
141-9
H
—12+ 2|3 — 4|
~1a+2 -1
—~ )2 r2LD
~)>+2=-[D

6—38+27+(—8)+ 126
323177 +(-%) +12L

-5 F(-3) F12e
~13 Y126
32 — 47 -
a-le = -7

i a3
=%
18— [2—=7|
18- 1-51
1%-5"
1D
—14+ (—18) + 10
- DA FID
-22

32 — [5 — (15 — 20)]

2a- [5-(-9))
d2-L ]
e ¥ 2

In June 2011, the state of Pennsylvania estimated it would have a
budget surplus of $540 million. The same month, Texas estimated it
would have a budget deficit of $27 billion. Use the integers to the

budget of Pennsylvania and Texas.

y Cenn

5y D'} oLb L

T'OK L]

7

--2,']) OV, 000, 50D
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Multiplying Integers

What you will learn about:
Multiply and Divide Integers

How does it work

563 -5)-3)
take away 5, 3 times take away -5, 3 times

@909® 0OO0COC

15 negatives 15 positives
5-3N=-15 [-5K-31=15

MULTIPLICATION OF SIGNED NUMBERS

Foor MuipACEEeyn of fen BN PR

Some sigre Product Examoie

Tty Rt v FLagiive Tid = 28
W regatbee Pouilive Hi=b) = 4§
Diffewemnt migrs Product Examphe

Prmitys  regative Mg Ti=8) = 6%
Negadive  ponitive Fomipnt v =510 =%}
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Multiply by -1

Divide Integers

Multiply

-9-3
=27

MULTIPLICATION AND DIVISION OF SIGNED NUMBERS

For multiphication and division of wo signed numbers:

= |l the signs ars the

o [ the signs are different, the result is negative

Same signs

Two positives

Two negatives

Differant signs

Positive ana |1P:=:}.'!TIUF1

Negative and positive

Simplify
7(=2)+4(-7)—6
-y AV — L
~Ya-t
43

- 2(-5) 4(—8) 7-6
lo -3 43,

same, the result = positive

Result

Positive
Positive

If thie signs are the same, the rasull is positive

Result

Negative
Nagativa

if the signs are differant, the reault is negative

9(—-3)+7(-8)—-1
=27 +(-5b) -]
-5 -1 = -‘5‘-1

(-2)"

(e EL) =
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Simplify

12-3(9-12) 16 — 6(7 — 13)
Ll & 1-7-}
oue V"
2
LD/ l() w 12(-9) + (—3)3 -30+ 2 + (—=3)(—7)
Evaluate the following whenn = =5
2x* +3x+8 —3x°—2x+6

Translate Phrases to Expression] Trasnlate and simplify the sum of eight and negative twelve,
with integers increased by three

Translate and simplify the differnce of negative eight and negative
twleve, increased by nine.
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